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Table entry for p and
C is the point £* with
probability p lying
abave it and
probability C lying
between . —f* and 7*.

Probability p

Table B ¢ distribution critical values

Tail probability p

daf | .25 .20 15 10 05 .025 02 .01 005 - .0025 .001 0005

1.000 1.376 1.963 3.078 6314 12,71 15.89 31.82 63.66 127.3 318.3 636.6
816 1.061 1.386 1.886 2,920 4.303 4849 6.965 9.925 . - 14.09 22.33 31.60
765 978 1250 1.638 2353 3.182 3.482 4.541 5.841 7.453 10.21 12.92
741 941 1.190 1.533 2132 2,776 2.599 3747 4.604 . 5.598 1.173 8.610

F-SE TN S

40 681 851 1.050 1.303 1.684 2.021 2. 551
50 679 .84% 1.047 1.289 1.676 2.008 2.109 2.403 2.678 3.496
60 679 848 1.045 1,296 L.671 2.000 2.099 2.390 2.660 . 3.460
80 678 846 1.043 1.292 1.664 1.990 2.088 - 2374 2.639 3.195 3.416
100 677 .845 1.042 1.290 1.660 1.984 2.081 2.364 2.626 3.174 3.3%0 -
1000 673 .842 1.037 1.282 1.646 1.962 2.056 2.330 2.581 3.098 3.300
o 674 841 1.036 1.282 1.645 1.560 2.054 2.326 2.576 3,091 3.291
50% 60% 70% 80% 90% 95% 96% 98% 99% 99.8% 90.9%

Confidence level C
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Math 210 Intro to Prob and Statistics

-

1. ‘Error of depth perception is very important in dental work. A certain aptitude test asks subjects fo
estimate the distances between a fixed object and a secoid object of variable position. A random

sample of 14 subjects gave the following information about errors in a particular depth perception test

(ﬁpitsinmilhmcters): _
1.1 1.5 0.9 2.1 1.4. 1.7 0.8
1.3 1.8 1.1 1.6 1.9 1.2 1.6

a. Use a calculator to verify that the sample mean of the above data is 1.43 mm and the standard
deviation is 0.38§ mm. X142 5= 0.2232

b. Find 90% confidence interval for the population mean of errors for this depth perception test. ‘
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2. Shoi:liftihg has been a problem in a large men’s clothing store. Using special security measwresto
monitor shoplifting, it was found that there were attempts to shoplift the following dollar values of
merchandise each week for the past nine weeks: ' ' '

$356 $285 $310 $375 $290
$325 $331 1 $342 - $335
a. Use a calculator to verify that the sample mean 'is $327.67 with sample standard deviation $29.31.

b. Find a 90% confidence interval for thc-populafiqn mean.
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